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Puzzle 1 (Hard, difficulty rating 0.65)

| (o)

Al Ll o] (o] (o] iTe) (a0 aud %124597886 (=] [aN] | o ko] [ap] 1] R oud [(o) [eo) RS Y )123894576
o b M
= s o
©

[(e] o)) kaud [9p] KaN] Kool Ryl N0 il (322 K<e) [ Te] [se] RSyl aud [@2] [l KoV | .W.351846927 m978865241
> = ©
) s
= [$]

|0 MO MO | N W642818597 m848615792- ..W,T56419882-
E el =
N o
£ S 5

MO | TN | =[O © R=] Lo [ep] [ [@2] KaN] k(o] RSyl huud Ko o) y12649—{358 %48123_{965
© < (]
[} (] ©
N ™ <

[l (321 KaN] (e 0] [ (o] Kop) [{o) A= h aud o || O | O[O <+ OO |[©O| M| LO %] keel ((o) Kep] |l KaN] Rad Rl (0] Kep]
B N B




